
DSB03-185

No Code Name of Spare Parts Remark

1 30021200048 Pan Head Tapping Screw ST4.2×17  

2 30119910050 Housing Cover (Blue)  

3 30024500212 Flat Spiral Spring  

4 30021100227 Pan Head Tapping Screw ST2.9×9  

5 30030700084 Brush Holder Assembly  

6 30030600096 Carbon Brush  

7 30030100356 Switch (Red) 110-220V

8 30030500205 LEAD WIRE 200

9 30016300004 Strain Relief  

10 30400600286 อะไหลฟิ่ลคอยล ์DSB03-185 220V

11 Lead Wire 90

12 Lead Wire 90

13 30021200101 Pan Head Tapping Screw ST4.2×16  

14 30021400490 Ball Bearing 608  

15 30016300064 Insulation Washer  

16 30400401707 อะไหลทุ่น่ไฟฟ้า DSB03-185 220V

17 30019901861 Middle Bearing Bracket  

18 30021600123 Washer  （10×21×0.5）  

19 30021400489 Ball Bearing 6000-2RS (Outdo)  

20 30021200191 Pan Head Tapping Screw ST4.2×8  

21 30021600708 Washer 10×15×1  

22 30016100215 Fan Blade Assembly  

23 30019901882 Vibration Bracket Assembly  

24 30025200094 Vibrating Grid Flange  

25 30024100081 Base Plate  

26 30129900272 Clamp Lever  

27 30021100665 Cross Recessed Pan Head Screw M4×8  

28 30010000564 Sealing Gasket  

29 30021600707 Washer 15×29×0.5  

30 30021400488 Ball Bearing 6202T1XDDWC3E (NSK)  

31 30023700115 Bearing Retainer  

32 30021100052 Countersunk  Head  Screw M4×10  

33 30029902572 Eccentric Block  

34 30021600099 Washer  （6×13×2）  

35 30021100666 Countersunk  Head  Screw M4×18  

36 30010000563 Base Assembly  

37 30021100667 Cross Recessed Pan Head Screw M4×10  

39 30030300434 Power Cord (European Standard Plug) 110-220V

40 30010100029 Cord Guard (PVC)  

42 30021200036 Pan  Head  Tapping  Screw ST4.2×15  

T2 30415400216 Housing(DongCheng)


